


Compensation Strategy Addition

Show how you got your answer using the compensation strategy.

. 39 +25= b. 29 +13 =
. 15+19 = d. 9+23=
.39 +15= f. 29+26
. 49 +16 = h.19+33=‘
L 9+37= j. 29 + 24 =
. 29+13 = . 9+37=
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Compensation Strategy Addition

Show how you got your answer using the compensation strategy.

. 59 +35 = b. 49 + 25 =
. 64 + 29 = d. 55 +39 =
. 69 +35= f.14+79=
. 89 +13 = h. 73 +39 =
. 99 + 25 = j. 79 + 24 =
. 47 +59 = l. 56 + 49 =
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Compensation Strategy Addition

Show how you got your answer using the compensation strategy.

. 89 + 45 = b. 129 + 45 =
. 44 +129 = d. 45+149;
. 99 +75 = f.o 13+ 1791;
. 89 +133 = h. 109 + 56 =
i. 43 +119 = j. 89+ 74 =
. 35+259 = l. 279 + 66 =
w} * kK




Compensation Strategy Subtraction

Show how you got your answer using the compensation strategy.

a. 45-31= b. 39-11=
c. 25-19 = d. 68-29 =
e. 36-21= f 44-18 =
g. 57-39 = h. 63-31=




Compensation Strategy Subtraction

Show how you got your answer using the compensation strategy.

a. 77-49 = b. 91-49 =
c. 92-61= d. 87-31=
e. 78-52 = f 96-52=
g. 88-19 = h. 67-38 =
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Compensation Strategy Subtraction

Show how you got your answer using the compensation strategy.

a. 126 -31= b. 117-61=
c. 164 -91= d. 98-32=
e. 156 - 89 = f. 147 - 58 =
g. 187-39 = h. 175 - 48 =




Addition and Subtraction VWord Problems

LO: to solve word problems using addition and subtraction

Solve the Fo”owing problemsi
I. Tl’were are |67 bOOI(S iﬁ one C|GSSF‘OOI’T1 Clnd qu bOOI<S n Jrhe oJrher.

HOW mcng lOOOI(S are Jrhere OH’OS@HWGT‘ In bO'H\ C|CISSI’“OOI’T15?

2. Jay has a collection of 263 football cards. His brother has |889.

HOW mcmg more ]COO'HDO“ CCH‘CJS does JOS ["]OV@?

3. /A\ Fom||3 drive 28ql<m Fr‘om Cdﬂbeﬂ“(} +O SHdﬂeH, ond H‘)@ﬂ M—qkm on 'I’O NGWCOSHG.

HOW ]COI" dld Hweg +FGV@I q|+oge+her?

L. A cricket team score 456 in the first innings and 249 in the second innings.
How many  runs did Hweg score olJrogeJrher?

5. Jenng has $5.60. She spends $2.80 on a presenJr for her brother.

HOW much monelj dO@S she hGVQ |e1c+7

6. Abi collects SJerPS. She has 351 in a box and 456 in a book.

HOW mong dO@S Sl’i@ hove oH‘ogeH'wer?

7. A IOFFH driver has a 56 1km \Jour‘neg. He s+ops for a breck after 314km.

HOW much FUF‘H‘]GI" |’1CJS he +O +rove|?

8. A pack of Christmas cards costs $5.40.
How much chonge would there be from 3$10.007

9 A pockeJr of lentils weghs 4 509 and a po<:|<e1L of l<|dne3 beans Welghs 38Sg
How much do Hﬁeg both vvelgh o[+oge+her7

1O, A shopkeeper has 367/ bottles of lemonade.

He orders 480 more. HOW mOnH boJrHes O]C Iemonode WI|| he hOV@ now?

CI’]O”enge:
Two children have 720 marbles between them.
Jog has |26 more than Abi

How many does Abi have?
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